Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name : Digital Electronics and Digital Instruments
Subject Code : 2TEO4DEI1 Branch: Diploma(Electrical)

Semester : 4 Date : 24 /04 /2017 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) For AND Gate Y=
(1) A+B
(2)AB
(3) A-B
(4) A=B
b) The number of inputs and outputs of full adder are respectively
1. 2and?2
2. 2and3
3. 3and?2
4, 3and3
C) A+A=

W e
)

4, A?
d) Cost of Digital Instrument Compared to Analog Instrument is
1. High
2. Low
3. Medium
4. Equal
e) IfA=10110,A”=
1. 10111
2. 01001
3. 11011
4. 10110
f) BC+AB+BC=
1. C+AB
2. B+CA
3. AC+B
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9)

h)

)

K)

4, A+BC
(101)2+ (011)2= ( )2
1. 1000
2. 101
3. 1010
4. 112
Half Adder has How many Inputs?
1.1
2. 2
3. 3
4, 4
Min term designation for ABCD is
1. ml
2. ml5
3. ml6
4. m8
A 14 pin AND gate IC has
1. 6 AND gates
2. 5 AND gates
3. 4 AND gates
4. 7 AND gates
Where Counter is Used?
1. For Count Object
2. For Count Pulses
3. For Count Visitors
4. All Above
The number of digits in hexadecimal system
1. 10
2. 15
3. 16
4. 8
Full Form of SOP is
1. Some of Parts
2. Sum of Product
3. Some of Product
4. Sum of power
Which Gate is Work as Universal Gate?
1. EX-OR
2. EX-NOR
3. NAND
4. OR

Attempt any four questions from Q-2 to Q-8

Q-2

Attempt all questions
Explain Ex-OR & Ex-NOR gate with symbol, equivalent electrical circuit
diagram and truth table..
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Q-3

Q-4

Q-6

Q-7

Q-8

[EEN

[EN

Perform:

(11001.101), * (11.101),
(10011.011), + (1111.111),
(101010.0101),- (11111.11),

Attempt all questions

Write down De Morgan’s theorem and explain it with logic diagram and truth
table.

Explain NAND Gate as Universal Gate.

Attempt all questions

Convert (237.5)g to (......... ) 10
Convert (111)50 to (......... )2
Convert (ABC.AB) 15 to (......... )
Convert (129.CD) 16 to (......... )10

What is Flip-Flop? Explain R-S Flip Flop with block diagram, logic diagramm
and truth table.

Attempt all questions
Find out SOP:-

QY=f(A,B,C,.D)=ABC+A E + AC
Find out POS:-
QY=f(A,B,CD)=(A+B)(A+C )A+E+D)

Draw K Map For:-
f(ABBC)=AC+B

Drive equation using K Map
f(A,B,C)=Ym(0,1,2,3,5,6)

Attempt all questions

Explain Full Adder with block diagram, Truth Table and logic diagram
Draw logic diagram of :

Y=ABC+AED+AC

Y=(A+B)(A+C ) A+EB+D)

Y=4AB+AB+ BC

Attempt all questions
Explain BCD To Seven Segment Decoder.
Explain 3 to 8 line Decoder and give logic diagram of it.

Attempt all questions

Compare: Digital Instruments & Analog Instruments.
Explain Digital Frequency Meter with appropriate block diagram
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Q-1

b)

d)

f)

9)

h)

Attempt the following questions:

AND Jl82 HI2 Y=

1.
2.
3.
4.

$CL WS HL oty 2 ual wlB2Y 2o{l A vaul e 51

1.
2.
3.
4,
A+A =
1.
2.
3.

4

A+B
A B
A-B
A=B

2 3ol 2
2 Aol 3
3ual 2
3ua 3

>Ho‘

A2

sl2 BorgHozell (BHd AeCdl BotgHo2 ScAl ---mmmmmoo-

ol A=10110 , L A”’=

1.
2.
3.
4

BC+AB+BC=

1.
2
3
4.

(101)2+ (011)2= ( )2

1.
2
3
4.

1. duR
2. Al
3. Hlslan
4. ¥l

10111
01001
11011
10110

C+AB
B+CA
AC+B
A+BC

1000
101
1010
112

5lg WS HL 32Cl Botye slA B 2

wnh e

WN -
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4, 4
i) ABCDof Hlet U......... ®.

1. ml
2. mil5
3. ml6
4., m8

) As 1y ot Ao A2 2. Al Hi
1. 63los e 8lu
2. 53o5 A2 AU
3. 435 e 8lH
4, 795 A2 QM.
K)  s1Go2 oll GUNDL saul UL D?
1. ddg ol o3l 1
2. Utall oLl e
3. Yalstcdl ofl ot 12

4, GUR ol ol

D QAadlus@ui......... doR da

1. 10
2. 15
3. 16
4. 8

M) SOP of Y3 otiM ®.
1. Some of Parts
2. Sum of Product

3. Some of Product
4. Sum of power

N oflAet Hiell sl As2 YRade Ase D2

1. EX-OR
2. EX-NOR
3. NAND
4. OR
Q-2t0 Q-8 o{lActl yslMel S1SURL 4 Ysloll ¥cllol AL,
Q-2 ol Actl YSlell cllol U, (14)
1 Ex-OR & Ex-NOR 32 Rldlet, 85aade AAEsct uEe sisadH wa ga (1)
FXAlCREIRIL N
2 (11001.101), * (11.101),
(10011.011), + (1111.111), 3)
(101010.0101),- (11111.11), )
2
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Q-3

Q-4

Q-5

Q-6

SEGEIERN

o{lAell Yol walled 3.
Sl-3 1906t oll YR vl g 20 AU 1R W yHesLAl.
NAND 382 YA cid e 3l Auesal.

o{lAell Yol wellol 3L

3ULcR 831

(237.5)3 to (oonnnnn. ) 10
(111)10 to (......... )2
(ABC.AB) 16t0(..c..... )s
(129.CD) ;s to (......... )10

(EAU-5AU A2A 9? R-S EAU-5AUs{l 6cAls SLAUH, URSle SlUdUH wal

U g SO ULl

o(lAell Ylell wellol ),

SOP 2l :-

(1)Y=f(A,B,C,D)=ABC+A F + AC

POS 20tll:-

(Y=f(A,B,C,D)=(A+B)(A+T )(A+E5+D)

K Map €\L:-

f(AB,C)=AT+B

K Map oll Gulal s3lal wHlsel dRaAl.
f(A,B,C)=Ym(0,1,2,3,5,6)

o(lAcll Ylell wallol 3L,

$C ASR 6Cls SIADUH, ARsle SlADULH ol g 201 U uHaAl.

d5 2usld R (AlRs stdaun) e
Y=ABC+AED+AC
Y=(A+B)(A+T )A+E+D)
Y=4AB+AB+ EC
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Q-7

Q-8

o(lAcll Ylell walol 1Y),

oflalSl ¢ Actet 2N SIS1SR UHNLAL

SI8lsR Ae@ 9? 3*8 Clleel Sl5lsR URSle SLAUDUM B g 26A WA

Aot

o{lAell Yol wellol 3L

Ut AL BorgHo2 U Slyed BRGNo2 ofl ARuuHell 53
Sy glscll HleR ol sclls sl €131 Ael AHNLAL
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